5.24 The tank shown is 4 m long, 3'm high, and 3 m

wide, and it is closed except for a small opening at the

- right end. It contains oil (S = 0.83) to a depthof 2 mina X
static situation. If the tank is uniformly accelerated to the €= G' X
right at a rate of 9.81 m/s%, what will be the maximum

pressure intensity in the tank during acceleration?
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-Ddi-stance From a Point to a Line

Method 5: Use a One-Step Formula -
There is a formula that will give you the distance from a point o a line! —
In order to use the formula, we'll need the equation of the line i
inthe formax+by+c=10 I; o
Our original line was y=2x+4;
it rearrangesto 2x-y+4=0 < -
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e point is (4, 1) *_l /S \.{4 P =
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The formula that gives the distance between B I T Lﬁ’ 5]
apoint{m,n)jandalineax+ by +c=0is: — . e
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.. Method 5 gives an answer of 4.92 for the distance from point (4, 1) to the line y=2x+4
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